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Abstract: The financial measurements of the results of the
influence of various factors on the cost flows can carry out with
analytical methods of chain replacements or differences. However,
in case of managerial decisions, it should be considered that the
simultaneous influence of quantitative and qualitative factors is
completely attributed to the qualitative factor. Therefore, is
suggested application of integral analysis of cost flows, which
introduces a clear separation between the resulting measurements
of quantitative and qualitative factors.
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Research objectives: propose effective methods of financial
analysis and management of costs flows in production.
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Research novelty: presented the advantages and limitations of
the chain instolment factor analysis tool in the costs flows financial
management process.

Introduction
Recently, revolutionary technologies have significantly changed

the logic, chain and continuity of business and production
processes. Therefore, cost flow analysis remains relevant to identify
the dynamics of work with the latest technologies, business
adaptation, impact on costs and their management.

In a constantly evolving and changing market, cost financial
analysis at the academic level holds its place from the point of view
of identifying potential gaps and conducting timely research, the
relevance and effectiveness of analysis methods. An expense in
manufacturing, research, retailing, and accounting is money that
has been used to produce something or provide a service and is
therefore no longer available for use. The amount spent for the
implementation of the business is calculated as an expense.

Cost effectiveness analysis is the comparison and comparison of
the business plan or project and the actual costs, which enable us
to understand whether they have been implemented effectively
from a business perspective. The aim of the research is to assess
the efficiency of cost flow management, as well as to identify
possible ways to reduce costs and increase efficiency in order to
increase profits.
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Research results
Each organization chooses a unique cost management system

that will be suitable for the organization's operating style,
accounting policy, but few can analyze this system and evaluate what
elements it consists of and how it relates to profitability indicators.
saying cost management, we mean accounting, control,
management of all types of costs, as well as reducing them as much
as possible. The unique rules of the cost management system and
the composition of its elements depend on the goal set before the
organization and considering cost management as a separate part
of the business function [1].

Organizations may face various problems during their activities
that may be related to effective cost management. For example, how
to attribute incurred costs to a specific product or service or, how
to identify hidden costs. Similar issues are resolved by determining
the cost of goods and forming an internal management system.
Another stage of cost management is the analysis of the composition
and structure of costs, considering limited financial opportunities
[2].

The main goal of creating a cost management system is not to
reduce costs, but to achieve the goal set before the organization
through their optimization. It turns out that the priority issue of cost
management and reduction is only the tip of the iceberg and
includes a number of issues such as increasing organizational
efficiency through cost management [3].
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What do we mean by sunk costs? In practice, expenses are the
outflow of funds from the organization, but from an accounting
point of view, not all expenses incurred generate profits. For this
reason, the amounts classified as expenses in the expense report
differ from the actual cash outflows. When determining the rate of
return on costs, the profit of the company is compared only with
the part of the entities that provide profit according to accounting
standards [4]. The specifics of such calculations are determined
according to the organization's accounting policy, and the
composition of capitalized costs may differ depending on the
direction in which the profitability of costs needs to be calculated.

Indicators of cost profitability do not reflect the profitability of
all types of costs incurred by the organization in the reporting
period, but show the compensation of the spent resources that
participated in the formation of profit. In general, a high rate of
cost effectiveness indicates maximum return and efficient use of
resources [5].

Calculation the profitability of the costs incurred for the
formation of the cost price:

Return on Costs 2020 = Gross Profit / Cost of goods sold *
100% = 1,843,938/3,732,332*100 = 49.4%

Return on Costs 2021 = Gross profit / Cost of goods sold * 100%
= 2,754,659/5,265,154*100 = 52.3%
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Table 1. The changes in cost of goods sold, administrative, selling
and other expenses

Indicators Value /thousands AMD/ Changes
2020 2021
A 1 2 3

Cost of goods sold 3.732.332 5.265.154 +1.532.822
Realization costs 247.051 367.998 +120.947
Administrative costs | 439.226 557.464 +118.238
Other costs of 216.496 102.064 -114.432
continuing
operations
Gross profit 1.843.938 2.754.659 +910.721
Net profit before tax | 1.030.256 1.875.389 +722.032
Profit from sale 1.081.539 1.920.282 +838.743

Sales efficiency

Return on Costs 2020 = Profit from sales / (Cost of goods sold

+ realization

costs+

administrative

1.081.539/(3.732.332+247.051+439.226)*100=

1.081.539/4.418.609*100 = 24.4%

costs)

100% =

Return on Costs 2021 = Profit from sales / (cost of goods sold

+ selling expenses + administrative expenses)

1.920.282/(5.265.154+367.998+557.464)*100=
1.920.282/6.190.616*100= 31%
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How much profit does all the expenses incurred by the
organization provide?

Return on Costs 2020 = Net profit before tax / (Cost of goods
sold + Cost of sales + Cost of sales + Other expenses from
continuing operations) * 100% = 1,030,256 /
(3,732,332+247,051+439,226+216,496) * 100 = 1,030,256/
4.635.105*100= 22.2%

Return on Costs 2021 = Net profit before tax / (Cost of goods
sold + Cost of sales + Cost of sales + Other expenses from
continuing  operations) * 100% = 1,875,389 /
(5,265,154+367,998+557,464+102,064) * 100 = 1,875,389/
6.292.680*100= 29.8%

From the calculations made above, it is clear that the

profitability of the cost price increased by 2.9% compared to 2020,
despite the fact that the costs incurred for the formation of the cost
price increased by 1,532,822 drams in 2021 compared to 2020,
which is mainly due to the increase in sales volumes.

On the other hand, sales profitability also increased by 6.6%.
The profit from sales increased by 838,743,000 drams compared
to the previous year, which is quite a good indicator, therefore, the
increase in sales profitability is related to the volume of sold goods
compared to the previous year.

Now let's analyze to what extent the point of covering all kinds
of expenses has changed in the reporting period compared to the
previous one. In 2021, the Cost increased by 7.6% compared to
2020, that is, in 2021, 1,000 units costs provided 7.6% more profit.

As | have already mentioned, effective cost management does
not come down to only identifying possible ways to reduce costs,
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but it consists in ensuring high profitability of the company's

expenses. Using the method of chain installations, let's try to

understand the effect of work factors on the change in the volume

of beer production.

Table 2. Data for determining the impact of work factors on
the volume of product

per worker, thousands AMD,
Py

Indicators 2020 2021 Devia- %

tions
Product volume 15.668 | 15.750 +82 100,52%
thousands. V
Average number of workers, 289 315 +26 108,99%
person, P
Average number of days 251 252 -1 100,3%
worked by 1 worker during
the year, D
Days worked by workers, 72.539 | 79.380 +6.841 109,43%
DW
Average hours worked by 580.31 | 635.04 | +54.728 | 109,43%
workers, HW 0
Length of working day, hour, 8 8 - 100%
H
Average hourly productivity 0,027 0,025 -0,002

Chain replacements and calculations:
VO = PoX Do X Ho X PHo = 15668,42
V''= Pyx Do x Ho x Pro = 17.078,04
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V2 = Pix Dy x Ho x Pyo =17.146,08
V3 = P1X D1 X H1 X PHo = 17146,08
V4 = P1X D1 X H1 X PH1 = 15876

Various factors following influences will be:
Average number of workers P; — Po = -1.409,62
Average number of working days per worker D, - D; = -68,04
Length of working day Hz - H, =0
Average hourly productivity per worker Pus — Pus = -1.270,08
The sum of these factors will be equal to P4 — Py = 139,54

During 2020-2021, the largest deviation in beer production
alone is accounted for by the production volume, which has
increased compared to the previous year. The duration of the
working day has remained constant (8 hours). The average number
of workers increased by 26 compared to 2020. If we talk about the
effects of individual factors, we will notice, that the change in the
average number of workers working in the brewery had the biggest
impact on the production volume. The number of days worked by
one worker has undergone little change, in 2021 the number of
days decreased by 1. However, this minor change has had an impact
on the output volume.

Now let’s use both the method of absolute differences and
percentage difference method at the same time and understand
the effect of work factors on the change in the volume of beer
production.
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Absolute differences method:
Vo = Pox Do x Ho x Puo = 15668,42
Vi=(P1-Po) x Do x Ho x Pro =1.409,61
Vo =Pix (D1 - Do) x Ho x Puo = 68,04
V3=P1XD1X(H1—H0)XPHO=O
V4 = P1X D1 X H1 X (PH1 PHo) = 1270,08

Percentage difference method:
V(t) = Pox (D%- HW% ) :100% = 26,38%
V(P) = Pox (P% -100 %) : 100 = 25,98
V(D) = Pox (DW% - P %) : 100 = 1,27 %
V3=P1XD1X(H1—H0)XPHO =0
V4 = P1X D1 X H1 X (PH1 PHo) = 1270,08

Conclusion
Analysis of costs, as well as their competent adjustment, is one

of the most important conditions for the financial means of the
organization, the uninterrupted flow of the production process, and
avoiding risks as much as possible [6].

The analysis shows that the effectiveness of cost management is
determined by both the change in the speed of profitability of costs
and their structure, also different items in the composition of costs
have different speeds of profitability and each change has a
significant impact on the financial condition of the organization [7].
In this regard, we emphasize the financial measurements of the
results of the influence of various factors on the cost flows, which
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we can carry out with analytical methods of chain replacements or

absolute differences.

However, case of making managerial decisions, it should be

considered that, the simultaneous influence of quantitative and

qualitative factors is completely attributed to the qualitative factor.
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Pwuwih pwnbp - dwfuubiph ybpndnyeniu, Swfuunidubp,
huwtuwywu  Ywnwlwpnwd, owhnye, gnpdnuwihu  ybip-
[néniEjNLU

Owluuwiht  hnuptiph  $puwbuwlwu  dbpndnieiniup
Ywpunpynw £ Ywqguwybpwnigyniuubiph Ynndhg pnnupydwu
hupuwnpdbpp Ywnwywpbihu W whnipwpbpnypjwt pwpdpwg-
dwu ntiqtipjutipp pwgwhwjwnbihu:

Wu wnnuwind wpnhwywu Gu dwiuuwiht hnuptiph ypw wnwp-
ptip gnpdnuubtiph wgnbgnupjwu wpryntupubiph Ppuwtuwywu
swihnwubpp, npnup Ywpnn Gup hpwlwiwgub] onpwjwlwu
wnbnwnpnwubph Ywd wwppbipnyeniuutph bpndwywu tnw-
uwlubipny:

Ujnwu Ynndhg, Ywnwywpswlywt npnonwdubip punniutijhu
wbwp £ hwodh wnub, np pwuwlwlwu b npwlywlwu gnpdnu-
ubph  dpwdwdwuwlw  wgnbignieniut - wdpnnonyphu  ybi-
pwapynu £ npwlwlwu gnpdnupt: Mwwh, onpwjwlwit wnb-
nwnpnudubipht qniqwhtin Yupunpynud £ dwfuuwhu hnuptiph
hunbigpwiwhu ybpnwdniejwu Yhpwnnidp, npp hunwy tnwpwu-
owwnw £ dngund pwuwlwywu b npwlwlwu gnpdnuubiph
wpryntupwjht swithnwiubiph dholu:
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